INRAT7A42 5 —RPG Ty 39 3—1E—t

Q v 598—DEHI LA 1 1@ AR TR -
Bt Izl TE FHh:
ISR T7ABR—1 EM: h1)—TU(EE0ME)
3
B 418 B HISE(E (W EvkRAUF: 16
16 2 0 0
BAh 18 — +4 STR
= AT | FEE] & | & e 6
BiEH 14 — +2 DEX AC 17 +5 +2
4 FEfMAC 12 - - +2
it A7 14 — +2 CON 5 FLHAC 15 +5 +0 [ +0
70 T—7 TR DTSR Bl 2D
HH 10 — +0 INT TREE—y +4 — 2 12
12 RistE—7  +2 — 0 +2
1| i 12 - +1 wiz ERE—T +1 — 0+
3
wH 8 — -1 ona Y WEEES
7 o= $|EfE BiE (] 2ol
o) ERIE L v 50— i 2 =
HAELRE: 30 ft HAX A WEQEE| {E ISR|EEN| T D
B3 EERE|] +5 — 1 | +4
R—FRER1D ERBE]  +3 — +2
i LT Sl TH REpt+1 ERh—F R +5 — 1 +4
B BEME] 17 — 1 | +6
an JL—kY—F
BR/ISADT—H WER—FR|F A=z 3R |BE| 5E5EER
Lv[2Z A Lv hd |BAB| maf# | &Ic| = B % 1F hp +6| 2d6+6 [19~20/x2| & 5ft -
1B 17745 —1 10[ 1 2 3 1 — _
o[ 2 o E—=UJRE—
o[ 3 WEBR—F X[ T A—Tlovzona] BRI [FE] %EER
o[ 4 +5] 1d8+4 | 20/x2 | B | 5ft -
o[ 5
o[ 6 = frEt a2 Sy
o[ 7 WEBAHAR—FR[FA="lonzonm] BRI [51FE] BHiEEk
o[ 8 +3| 1d6+4 | 20/x2 | RIZ= | 30ft RES
o[ 9 7 3 /3
o[10
011
o[12 ARZEE) -2 +2
of[13 N CE R +2
o[i4 Ex&n) 40 +0
o[15 ABEED -2 O +2
o[16 E Y& -1 -1
o[17 X SERFGn) 40 +0
0[18 THGE) -1 -1
0119 ETERCE)  +1 +1
0[20 XBICFEGED _ +0 +0
E AKXk  +4 O 1 +4
EHEEFD  H @) +1
R—F REBIRR X1 AxEBEAEE) -2 +2
ABRHAE) -2 +2
MECH)  + +1
<HEBERGED __ +0 +0
X HE(TF)E) 0 [@) +0
X HBCRITF)ED)  +0 +0
x HE(ER)EN)  +0 +0
X HIBGR&)(ED) 0 0
25 -FE~DER x HMEERBEED 0 +0
gl O E| O x BT B 10 O +0
hEE[ O Hi#ERZ[ O X SIERGEE)ED)  +0 +0
EZie]| O & Hikes| O x M GHE)ED  +0 +0
X SN (EESR)%D)  +0 +0
BEE) + +1
AXFEDBRER) -2 +2
AZFIAE) +4 @) 1 +4
(RBRR. I L—FJ—F) x BVAEVGE) -1 @) -1
GEhp) FoUE) -1 -1
G&IT) TEGE -5 1
ARGTE) -2 +2
[ xBEEEEGERGE) -1 1




INAT7A 3 —RPG X575 — 1R —k

BELFAE. BHRERE L Bixte D
175 gp| 17 g 5ft 9inch fiiZEL Lo
122.67|gp e 175 (pd) X I BE 1 1B
HRYUEE 52.33|gp 4 10 120 5 5 2 £ ch | e i
HE |E2EJ|FBE() 3T BRI 3T
s 2 100 30 P BB R I X
EE3S 5| 200 20 = P REWL X
5 AL 300 20| [EXEt— ROvFEEER
BE 3| 0 10
e 3| BimE 945 1 11
WEE 2695 2 12
CI 3 13
4 14
DI Bl #H g |22 SN ES/NE 5 15
B@)| AT - AL 1 50 30 50 30 6 16
THE(E) 7 17
AMMURBR|TL—V—F 1 50 8 50 8 8 18
HIRB[E—=HF 25— 1 8 6 8 6 9 19
S Ay P 3 1 2 3 6| [V R M4
~NJLk
=5
[
i B
[
i F
BEER
EEE L
EIEE
5w (EF)
& (EF)
BAEY
FE
ElRuUERL
EEABELL
EBEAELL
(ERRELL
ElRuUERL
EEVRIEE 1 2 2 2 2
ETHES 1 0.1 5 0.1 5
N 5] 0.01 1 0.05 5
F O —J50ft 1 1 10 1 10
X)L 1 2 8 2 8
X hyT 1| 002 1 0.02 1
K& 2 1 4 2 8
REER 5 05 1 25 5
NILNR—F|EE 1 1 0.5 1 0.5
RITRETER 1 1 1 0
(RITY) OFERICKY. EEREOGHRIZT—T1ONR ]
FTILTAZZ2TH5RKDYICFTA—T#EOTFET, _
GJL—rY—FTRUTOESIZHY FT, .
s JL—bty—F;@+h — HA—2d6+9 ]
| | [ 1 | | |




